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$%675$&.

8'��-2<2�0$.085�-$7,�LV�D�WUDGLQJ�EXVLQHVV�XQLW�WKDW�SURYLGHV�D�ZLGH�UDQJH�RI�
IXUQLWXUH�UDZ�PDWHULDOV�VXFK�DV�JDPEDQJDQ�FRPSRQHQWV��IURQW�FRPSRQHQWV��ORJV��
HWF��8'��-2<2�0$.085�-$7,�LV�FXUUHQWO\�VWLOO�XVLQJ�D�PDQXDO�V\VWHP�WR�PDQDJH�
WKH�VWRFN�RI�JRRGV�LQ�WKH�ZDUHKRXVH��)LQLVKHG�JRRGV�VWRFN VWDWXV��LQIRUPDWLRQ�DERXW�
GDLO\� RUGHUV�� GDLO\� UHSRUWV� DUH� DOVR� QRW�ZHOO� RUJDQL]HG�� 7KH� SUREOHP� WKDW� RIWHQ�
RFFXUV�LV�ZKHQ�WKHUH�LV�DQ�RUGHU�UHTXHVW��WKH�RZQHU�GRHV�QRW�NQRZ�KRZ�PDQ\�VWRFNV�
RI� ILQLVKHG�JRRGV�DUH� LQ� WKH�ZDUHKRXVH�� VR�KH�PXVW� ILUVW� FKHFN� WKH� JRRGV� LQ� WKH�
ZDUHKRXVH��6XFK�D�V\VWHP�PDNHV�WKH�RZQHU�DQG�WKH�ZDUHKRXVH�ZRUN�WZLFH�EHFDXVH�
WKH\�KDYH� WR�FDOFXODWH� WKH�VWRFN�RI� ILQLVKHG�JRRGV�ZKHQ�DQ�RUGHU� FRPHV� LQ��7KH�
PHWKRG�RI�PDNLQJ�DQ�DSSOLFDWLRQ�XVHG�LQ�WKLV�VWXG\�LV�:DWHUIDOO�XVLQJ�80/��8QLILHG�
0RGHOLQJ�/DQJXDJH��PRGHOLQJ��5HVXOWV�RI�*RRGV�,QYHQWRU\�,QIRUPDWLRQ�6\VWHP�DW�
8'��-2<2�0$.085�-$7,�ODWHU��WKH�GDWD�FROOHFWLRQ�RI�JRRGV�ZLOO�EH�HDVLHU��GDWD�
FROOHFWLRQ� ZLOO� EH� DUUDQJHG� UHJXODUO\� VR� WKDW� 8'�� -2<2� 0$.085� -$7,� FDQ�
PDQDJH�JRRGV�LQYHQWRU\�GDWD�DQG�RUGHULQJ�JRRGV�DFFXUDWHO\�DQG�TXLFNO\�ZLWKRXW�
KDYLQJ� WR� JR� WR� WKH� ZDUHKRXVH� DQG� DOVR� FXVWRPHUV� ZLOO� PRUH� TXLFNO\� UHFHLYH�
LQIRUPDWLRQ�DERXW�DYDLODEOH�VWRFN�LWHPV�

.H\ZRUGV��$SSOLFDWLRQV��,QYHQWRU\��$QGURLG� :DWHUIDOO��80/
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$%675$.

8'�� -2<2� 0$.085� -$7,� PHUXSDNDQ� XQLW� XVDKD� GDJDQJ� \DQJ�
PHQ\HGLDNDQ�EHUEDJDL�PDFDP�EDKDQ�EDNX�PHEHO� VHSHUWL�NRPSRQHQ�JDPEDQJDQ��
NRPSRQHQ�GHSDQ��ND\X�JORQGRQJDQ��GOO��8'��-2<2�0$.085�-$7,�VDDW�LQL�PDVLK�
PHQJJXQDNDQ�VLVWHP�PDQXDO�GDODP�PHQJHOROD�VWRN�EDUDQJ�GL JXGDQJ��6WDWXV�VWRN�
EDUDQJ�MDGL��LQIRUPDVL�WHQWDQJ�SHVDQDQ�SHUKDUL��ODSRUDQ�SHUKDUL�MXJD�EHOXP�WHUWDWD�
GHQJDQ� EDLN��0DVDODK� \DQJ� VHULQJ� WHUMDGL� \DLWX� NHWLND� DGD� SHUPLQWDDQ� SHVDQDQ��
SHPLOLN�WLGDN�WDKX�DGD�EHUDSD�MXPODK�VWRN�EDUDQJ�MDGL�\DQJ�DGD�GL�JXGDQJ��VHKLQJJD�
KDUXV� PHQJHFHN� GXOX� EDUDQJ� \DQJ� DGD� GL� JXGDQJ�� 6LVWHP� VHSHUWL� LWX� PHPEXDW�
SHPLOLN� PDXSXQ� SLKDN� JXGDQJ� EHNHUMD� GXD� NDOL� NDUHQD� KDUXV� PHQJKLWXQJ� VWRN�
EDUDQJ�MDGL�NHWLND�DGD�SHVDQDQ�PDVXN��0HWRGH�SHPEXDWDQ�DSOLNDVL�\DQJ�GLJXQDNDQ�
GDODP� SHQHOLWLDQ� LQL \DLWX� :DWHUIDOO� GHQJDQ� PHQJJXQDNDQ� SHPRGHODQ� 80/
�8QLILHG�0RGHOLQJ�/DQJXDJH���+DVLO�GDUL�6LVWHP�,QIRUPDVL�3HUVHGLDDQ�%DUDQJ�3DGD�
8'�� -2<2�0$.085� -$7,� LQL� QDQWLQ\D� SHQGDWDDQ� VWRN� EDUDQJ�PHQMDGL� OHELK�
PXGDK��SHQGDWDDQ�SHVDQDQ�EDUDQJ�DNDQ�WHUWDWD�GHQJDQ�WHUDWXU�VHKLQJJD�8'��-2<2�
0$.085� -$7,� ELVD� PHQJHOROD� GDWD� VWRN� EDUDQJ� PDXSXQ� SHPHVDQDQ� EDUDQJ�
VHFDUD�DNXUDW�GDQ�FHSDW�WDQSD�KDUXV�NH�JXGDQJ�GDQ�MXJD�SHODQJJDQ�DNDQ�OHELK�FHSDW�
PHQHULPD�LQIRUPDVL�WHQWDQJ�VWRN�EDUDQJ�\DQJ�WHUVHGLD�

.DWD�.XQFL���$SOLNDVL��3HUVHGLDDQ�%DUDQJ��$QGURLG��:DWHUIDOO��80/
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6HJDOD�SXMD�GDQ�SXML�V\XNXU�$OKDPGXOLOODK�NDPL�SDQMDWNDQ�NHKDGLUDW�$OODK�

6:7�\DQJ�0DKD�3HQJDVLK�ODJL�0DKD�3HQ\D\DQJ�NHSDGD�VHOXUXK�KDPED�1\D��\DQJ�

WHODK� PHPEHULNDQ� WDXILN� GDQ� KLGD\DKQ\D� NHSDGD� NLWD� VHPXD� VHUWD� PHPEHULNDQ�

QLNPDW� LVODP�� LPDQ� GDQ� NHVHKDWDQ� \DQJ� GLEHULNDQ� NHSDGD� SHQXOLV� NKXVXVQ\D��

VHKLQJJD� SHQXOLV� GDSDW�PHQ\HOHVDLNDQ� VNULSVL� \DQJ� EHUMXGXO� ³3HQHUDSDQ� 6LVWHP�

,QIRUPDVL�3HUVHGLDDQ�%DUDQJ�3DGD�8'��-2<2�0$.085�-$7,�-HSDUD�%HUEDVLV�

$QGURLG´�GHQJDQ�WHSDW�ZDNWX�WDQSD�DGD�KDODQJDQ�\DQJ�EHUDUWL�

3HQXOLV�PHQ\DGDUL�NHWHUEDWDVDQ�SHQJHWDKXDQ�\DQJ�SHQXOLV�PLOLNL��NDUHQD�LWX�

WDQSD� NHWHUOLEDWDQ� GDQ� VXPEDQJVLK� GDUL� EHUEDJDL� SLKDN�� VXOLW� EDJL� SHQXOLV� XQWXN�

PHQ\HOHVDLNDQ�SHQ\XVXQDQ�VNULSVL�LQL��0DND�GDUL�LWX�GHQJDQ�VHJHQDS�NHUHQGDKDQ�

KDWL�SDWXWODK�SHQXOLV�XFDSNDQ�WHULPDNDVLK�NHSDGD�\DQJ�WHUKRUPDW��%HOLDX�

�� .HGXD�2UDQJ�WXD�VD\D�WHUFLQWD��%DSDN�.DUL\DGL�GDQ�,EX�'DUVLQL�\DQJ�WHODK�

PHPEHULNDQ�NDVLK�VD\DQJ��GXNXQJDQ�EDLN�PRULO�PDXSXQ�PDWHULO��GDQ�'RD�

�� %DSDN�'U�� 6D¶GXOODK�$VVDLGL�� VHODNX�5HNWRU�8QLYHUVLWDV� ,VODP�1DKGODWXO�

8ODPD�-HSDUD�

�� %DSDN� ,U�� *XQ� 6XGLU\DQWR�� 0�0�� VHODNX� 'HNDQ� )DNXOWDV� 6DLQV� GDQ�

7HNQRORJL�8QLYHUVLWDV�,VODP�1DKGODWXO�8ODPD�-HSDUD�

�� %DSDN�$NKPDG .KDQLI�=\HQ��0�.RP�6HODNX�.HWXD�3URJUDP�6WXGL�7HNQLN�

,QIRUPDWLND�8QLYHUVLWDV�,VODP�1DKGODWXO 8ODPD�-HSDUD�

�� 1XU�$HQL�:LGLDVWXWL��6�3G��0�.RP�VHODNX�GRVHQ�SHPELPELQJ�,�\DQJ�WHODK�

PHPEHULNDQ�ELPELQJDQ�GDQ�QDVLKDWQ\D�VHODPD�PHODNVDQDNDQ�SHQXOLVDQ�GDQ�

SHQHOLWLDQ�LQL�

�� 7HJXK�7DPULQ� 6�.RP�� 0�.RP VHODNX�'RVHQ�SHPELPELQJ�,,�\DQJ� WHODK�

PHPEHULNDQ�SHUKDWLDQ��ELPELQJDQ�GDQ�NHSHUFD\DDQ�EDJL�SHQHOLWL�

�� %DSDN�GDQ� ,EX�'RVHQ�3URJUDP�6WXGL�7HNQLN� ,QIRUPDWLND� NKXVXVQ\D�GDQ�

%DSDN�VHUWD� ,EX�'RVHQ�GL� OLQJNXQJDQ�)DNXOWDV�6DLQV�GDQ�7HNQRORJL�SDGD�

XPXPQ\D�\DQJ�WHODK�PHPEHULNDQ�LOPX�GDQ�ZDZDVDQ�NHSDGD�SHQHOLWL�

�� 7HPDQ�VHSHUMXDQJDQ�3URJUDP�6WXGL�7HNQLN�,QIRUPDWLND�DQJNDWDQ������
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�� 7HPDQ�WHPDQ�PDKDVLVZD�GL�OLQJNXQJDQ�3URJUDP�6WXGL�7HNQLN�,QIRUPDWLND�

)DNXOWDV�6DLQV� GDQ�7HNQRORJL�8QLYHUVLWDV� ,VODP�1DKGODWXO�8ODPD� -HSDUD�

\DQJ� VHQDQWLDVD� PHQJKLEXU� GDQ� PHPEHULNDQ� QDVLKDW� NHSDGD� SHQHOLWL�

VHKLQJJD�WHUVHOHVDLQ\D�NDU\D�LOPLDK�LQL�

��� 6HPXD�SLKDN�\DQJ�WHODK�PHPEDQWX�VHKLQJJD�VNULSVL�LQL�GDSDW�WHUVHOHVDLNDQ�

GHQJDQ�EDLN�

3HQHOLWL�MXJD�PHQ\DGDUL�EDKZD�GDODP�VNULSVL�LQL�PDVLK�MDXK�GDUL�VHPSXUQD��

ROHK�NDUHQD�LWX��NULWLN�GDQ�VDUDQ�GDUL�VHPXD�SLKDN \DQJ�EHUVLIDW�PHPEDQJXQ�VHODOX�

SHQHOLWL�KDUDSNDQ�GHPL�NHVHPSXUQDDQ�VNULSVL�LQL�GDQ�EHVDU�KDUDSDQ�3HQHOLWL�VHPRJD�

VNULSVL�LQL�EHUPDQIDDW�EDJL�.LWD�VHPXD��$PLQ

-HSDUD�����0DUHW�����

'HYL�1XUOLWD�$QGUL\DQL
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.X SHUVHPEDKNDQ�NHSDGD�

�� ,EX�'DUVLQL GDQ�%DSDN�.DUL\DGL�\DQJ�WHODK�PHQFXUDKNDQ�NDVLK�VD\DQJQ\D��

PHPEHUL�VHJDOD�GXNXQJDQ�GDQ�GRD�VHUWD�VHODOX�PHQJXSD\DNDQ�\DQJ�WHUEDLN�

XQWXN�PDVD�GHSDQ�DQDNQ\D�

�� $GLN�VD\D�'DQ\V�'ZL�$\X�3XWUL�\DQJ�VHODOX�PHPEHULNDQ�VD\D�VXSSRUW�GDQ�

SHQ\HPDQJDW�EDJL�VD\D�

�� 'LUL�6D\D�6HQGLUL�

�� 6HPXD� WHPDQ�WHPDQ� VD\D� \DQJ� WHODK� PHPEDQWX� VD\D� VHODPD� VD\D�

PHQJHUMDNDQ�VNULSVL�
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